normalized x?

107

1072

107

10

10°°

Entries 172457
Mean 0.9214
td Dev 1.258

Entries
Mean
Std Dev

[ normalized

X2 probability ]

0.035]

0.03}

0.025

0.02

0.015

i " [Enties
Mean
_ Lstd bev

Entries 173603
0.9228
+ = o+
o T f
. 24 1
O'U 2 4 6 8 10 12 14 16 18 20 o 0 010203040506070809 1
X2 Prob(x?)
— é :g:m;?( ECTOT_TUUUEVT
— D ted4_T1000evt
s DOM—fit_cpeOK_1000evt
s DOM it _CPeOK"SORTRZ2_1000evt
D fit_cpeOK_SORTRZ2_TESTOUTLIER4_1000evt
A2 = 1
5 : g 1* 6
c F H . . .
AR SR R R R A 'y -, : :
x t : ¢ 9 f"":"""-‘-‘;”"‘z“"";':-
T S O O S - Do :
[ o -]
\ N
o . .....
-3 . .....
-4 T
. i
o v o -5 t
=1 = 12
4 o
. : : 0.8} X I 1! -
0.9
=3 -2 -1 0 1 2 3 -3 -2 -1 0 2 3
n TP n (PCA to beamline)
A A 2r
i 2 1.8F-
% < 1.6F-
v Vo14F-
1.2F
-
0.8F-
0.6F
0.4f
0.2F
° o O
I T
[ @
0.5F
10° 1072 107
AR(track, jet?
S ;
A o H
— 4__ ----------------- -., --------------
S :
2 _F
<o
Vv

Ratio




	Contents
	Page 1


